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M IIZHNZ2 2 NS Es 24,061 22,845 1,216
O& A& 028ty ssu4al olAt| 24,061
(OpIE== 76,9603 %197 *1H 15,162
OFssY 76,9603 x30+1H 3,002
Odxt=< 76,9603 «8L*x1H 616
OAZtel 24
76,9603 /8%1.5x 12154 2H+0& 1,949
O=&b| 100,000 x99 «1H 900
O4U2E 2,432
- =03 21,629,000 *4.5% 974
- HAEE 21,629,000 x3.545% 767
HIREEE 767,000 *12.27% %b
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SN BMDSEED
Ma: Do B g

oel: HP0IH X7 A (SH9 H2)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
NEZE 21,629,000& *1.75% 379
MHEE 21,629,0002 * 1% 217
201 et | 125,200 71,000 54,200
01 At 2elt] 24,400 20,000 4,400

20,000,000 14 20,000
o= X& 0128ty 29(us) 1,400
ORolgt|=+5 66,0002 12 79
OYA=E(0IAT) P
5002 *760H 380
O=ADI EH 24| 57,000 44 228
OUERAE s 2H(1SE)
3,000,000 1A 3,000
02 SE=294| 7,800 0 7,800
O=323H| 7,800
(OrSPIEer=; 500,000&*12& 6,000
O4 - ot=ER23 100,000& * 12& 1,200
OQIHY 3l AIE2(1E)
50,000& 123 600
03 A2 | 93,000 51,000 42,000
02 g 02 2Y9(usS)
35,000,000 14 35,000
OlIESZAMLH(1SE) 8,000,000& 1 8,000
Ol will be BCIXIQ!I AFH (L E)
40,000,000& 1 40,000
OUIE/T82s 2H(1S)
10,000,000& =14 10,000
202 O4H| 5,000 5,000
01 =ZLHOdH] 5,000 5,000
OUEHIE IS (D)
5,000,000& 1 5,000
203 PR F=&IH| 5,000 5,000
03 Al F=AHRFAIH| 5,000 5,000
OUIE/a82s 2H(1S)
5,000,000 1 5,000
301 LEtENZ 17,000 19,000 A2,000
11 HALRHIXIAZ 17,000 19,000 22,000
ouER ISl 22(DS)
2,000,000 =14 2,000
OB X 01281 2¥(1S)
13,000,000& 14 13,000
OlISZAILH(1E) 2,000,000& 14 2,000
ME=E 4 1,892,917 1,651,016 241,901
| 610,876
Al 205,626

_15_




FAN BEUSEE N
I dEHE |54
ol MSEAL 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,076,415
HElAL 28 K 275,218 223,680 51,538
Al 12,000
- 263,218
HENE2dal 265,218 213,680 51,538
Al 12,000
- 253,218
201 =3 4,080 4,080
01 At2t2lt] 4,080 4,080
Oggt=3H| 4,080
QMg K3 BEE HA & WX 2
o 0002 *80MI E 560
OPBIIIUsIBY 257 S BB7Y
250,000 *4H 1,000
OMBHSDR S5 340 =
50,0003 * 1494 2 700
OMEsds8s #H+¢
70,0003 13223 1,820
307 @120l & 261,138 209,600 51,538
Al 12,000
- 249,138
02 LB MAHEE 46,500 46,500 0
osse dEH=E gds N 46,500
OEH=3 da & S5 A=U3l X
pal 18,000,000& * 1= 18,000
OA& dgMsia N
12,350,000 * 1 12,350
O8z € ¥l 2523 7
9,150,000& 1= 9,180
OALZZHE 2dH|
1,000,000 #73] 7,000
03 P HNEE 22X 75,338 61,800 13,538
og+xH=Es SEAE 75,338
Og+xiu=ss 289 13,938,000& 1 13,938
OgaM=a A3 MRMHL X2 37,400
HYG (M=)
300,000 «1H*12& 3,600
AU (FBAUEL)
150,000 x2& * 122 3,600
NE=E 2528
200,000& x1E~12& 2,400
A=Y SEFOHI
300,000 x12H 23] 600
HEHMSA = SESIHI
200,000 x11& 23] 4,400
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SN HMDSED
I dEHE |54
ol MSEAL 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 23 otAS IO
200,00024*128§13] 2,400
NRRF BERYD
600,000 «1H* 122 7,200
MEHFA A S4H|
100,000 x11&«12& 13,200
OLTHSS AS2E oY)
2,000,000 «1H*12& 24,000
Al 12,000
- 12,000
04 QIZHHAMAIH 2 £ 139,300 101,300 38,000
O dEHEUH 2S(1HS=)
39,300,000 *1 39,300
OULNEY IEAY SUHE 2
38,000,000& x13] 38,000
Ogter X 20| tHal
30,000,000 * 1 30,000
oozd M2 X2
5,000,000& 12 5,000
OUTAl Hd2H=UEN XA
25,000,000& 18] 25,000
OAl NEZ &= K&
2,000,000& %12 2,000
S50 dEM= 210 K& 10,000 10,000 0
307 @I2t01 & 10,000 10,000
02 LB MAHEE 10,000 10,000
OU=Al S22 deM=s cld X
2,000,000 504 S = 10,000
257 29 € N2 311,962 318,262 26,300
AHE2E 311,962 318,262 26,300
201 Ler23| 5,050 5,080 0
01 At2teltl 1,450 1,450 0
OAZEE=E st=4A cld] & dEHIS +
= 1,000,000& 1 1,000
Osl+=8 M& 150,000 *32] 450
2 S524g4l 3,600 3,600 0
OAZE = S=2 23]
300,000& * 122 3,600
301 EtE N = 303,412 302,412 1,000
R2istd - 2SFS2EYE 303,412 302,412 1,000
OAAE 29 303,412
@)uiFal:] 190,000
A= 36,400,000 +5& 182,000
=tHESE 250,000 x2H 62 3,000
EX3 tlbl= 5,000,000& 1 5,000
OSAHI 400,000 12& 4,800
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HdusE2 W
dEHE |4
=2 29 9 X2 1)
S - A - BHIE) - HIRA - BES A
OAAE AHald| 100,000 43 400
OAMATAIH0IEZ 540,000 x4H 2,160
OAEZABEZS 200,000 *2H 400
Otlzlsd & dXl=x 3| 26,000
2UitHsl E@ |
300,000 +6H*113] 16,500
=R sl EXFY|
4,100,000& 1212 4,100
dXl2e Fdl 1,800,000 #32 5,400
OFANSUEH Aait|
1,000,000& %12l 1,000
oy 243 2,000,000 #52 10,000
odEg s RE= 22,182
AT E A EE 198,496,000 * 1% 1,985
QIE= o= 198,496,000 *1.75% 3,474
- =S 198,496,000 4. 5% 8,933
- AYEE 198,496, 0002 *3.495% 6,938
LRI EE
6,938,000&12.27% 852
OAEE &J|, &=EMEE
50,000 * 123 600
OBJ1#=clH| 140,000 8% 1,120
OSHzdd gzl
1,600 *6A1 2+ 1002 3CH 2,880
OMSA YRt 4,000,00021%11 4,000
O NAIUS Y|
250,000& x5 Z+12 1,250
(@==mll 36,620
aAE 7Y 25,500
—1om& & 50&+90,0002 4,500
—25mad gt 4203 +50,0002 21,000
HAX 2 2,420
-10m(H Xt E ) 13,0002 +1000H 1,300
—25m 140,000 +80H 1,120
OI=Hl & AR EHI 8,700
-25= ¥ 233 7Y
250,000& *23|+5H 2,500
-EF=5 7 250,000 x12]+5% 1,250
-otHl= ¥ 250,000 *12]+5% 1,250
-gets 2 300,000& *12]*x5H 1,500
A=A g 7Y 300,000& *12/+4&H 1,200
-ArEoHE 2 250,000 x4 1,000
405 AtatE = 3,500 2,800 700
01 M ESFH S| 3,500 2,800 700
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A BMNSELZI
M MBS SA
&t 28 29 & A& (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
|| ozd)7 3,500,0008% 15 3,500
MEHsEx20Y 29 1,050,228 827,038 223,190
J| 610,876
Al 193,626
- 245,726
UBHMEK S XIS AL 183,168 178,780 4,388
| 91,584
Al 45,792
- 45,79
307 2I2+0l ™ 183, 168 178,780 4,388
| 91,584
Al 45,79
- 45,79
02 SIZHBAAIHE X 183,168 178,780 4,388
oYLt MHHSKTT X
183, 168,000& 14 183, 168
| 91,584
Al 45,79
- 45,79
24 MEHSXI S 152,640 148,988 3,652
| 76,320
Al 38,160
- 38,160
307 gI2Hol 152,640 148,983 3,652
| 76,320
Al 38,160
- 38,160
02 QIRHEAAIHE X 152,640 148,988 3,652
O MEXNSF XN S HHXI
152,640,000 14 152,640
| 76,320
Al 38,160
- 38,160
MENSA A N=28s XA 1,760 0 1,760
| 880
Al 440
- 440
307 QI2tol M 1,760 0 1,760
J| 880
Al 440
- 440
02 QIRHE&AAIHE B X 1,760 0 1,760
OMEHMEXEN NCEs 283
1,760,000& 1,760




FAN BEUSEE N
M METR SA
ol dENSZZOYE 2Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 880
Al 440
- 440
MEHSXN N 2SKE 25,000 19,150 5,850
Al 12,500
- 12,500
307 lztol & 25,000 19,150 5,850
Al 12,500
- 12,500
02 2B YA E X 25,000 19,150 5,850
OdE =X 2SI 25,000
OulEH| 100,000« 11E*12& 13,200
Al 6,600
- 6,600
o258 7,400,000+ 1 7,400
Al 3,700
T 3,700
O=AzelE 400,000 11 4,400
Al 2,200
- 2,200
ARXIAMOIEH KNSAS 559,740 413,100 146,640
Jl 391,818
Al 83,961
- 83,961
301 EtE NS 569,740 413,100 146,640
Jl 391,818
Al 83,961
- 83,961
01 Al EE A ZS(2DEXMR) 559,740 413,100 146,640
OAR=AHO0ISH KA
559,740,000 1 559,740
) 391,818
Al 83,961
- 83,961
ANeMEMSEZ SAIS 4,000 4,000 0
Al 2,000
- 2,000
307 @120l & 4,000 4,000 0
Al 2,000
- 2,000
02 QIRIHAANGER 4,000 4,000 0
O4ANHE HENTEZ IS 25
1,250,000& 1= 1,250
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FAN BEUSEE N
3 dENE 54
telr dEdsZzy 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 625
T 625
O¥==dEN=Us 29
1,250,000& 1 1,250
Al 625
- 625
oNgdeM=L 24
1,500,000& 1= 1,500
Al 750
T 750
Aot gs N2 30,800 17,120 13,680
201 et23| 30,800 17,120 13,680
01 At22te|Hl 2,000 17,120 A15,120
o0JtdlNgs =gl
2,000,000& %1 2,000
03 A2 I 28,800 0 28,800
OEPAE JtHst ZAL =&
120,000 *102]x2E «12& 28,800
0 AX=AMOIEDE X2 ALY 71,820 45,900 25,920
Jl 50,274
Al 10,773
- 10,773
301 2eEN= 71,820 45,900 25,920
Jl 50,274
Al 10,773
- 10,773
01 Al EE AL S(FREXH) 71,820 45,900 25,920
OFOQ AZ=AR0ISH XA
71,820,000 x 1 71,820
7l 50,274
Al 10,773
- 10,773
st =24 21,300 0 21,300
201 2= 19,900 19,900
03 A2 I 19,900 19,900
owZist 2| 19,900
OZAL =& 370,000 +82]+5| 14,800
O88 s+% 50,000+8&+57| 2,000
OFLI M= S 1,000& *40E +402] 1,600
OJIEt 2] 300,000& %57 1,500
405 AHaHE S 1,400 1,400
01 AL =S F = 1,400 1,400
o0lsg 3o 2 1,400, 0002 *1CH 1,400
SSHEAE 28 & 2l 255,509 282,036 N26,527
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FAN BEUSEE N
M MBS SA
el ZZASAIE 29 U 242 (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
gr=0dSsdE 28 & 2el 115,650 131,650 A16,000
201 er23 | 650 1,650 A1,000
2 35234l 650 650 0
OusSREFLES 650,000 1 650
307 gl2to| & 115,000 130,000 15,000
05 212t =S 115,000 130,000 15,000
o4 AEXZY 2EXL
100,000,000 14 100,000
OgT Amx3E #HOI 0lAY|
2,500,000 « 1 +50%~ 123 15,000
SSHSAE 248 2c 139,859 180,386 /10,527
101 @124H| 75,595 125,186 A\49,591
MU IIRIMZENSES 75,595 125,186 A\49,591
Og=MAZ=Z40/E 22| 36,919
OJlzs 76,9603 x260 2 1 20,010
OFs=g 76,9602 x522 x1H 4,002
Odxt=g 76,960 112 +1H 847
OARRIIRR4Y
76,9603 /8+1.5x1Zx30A1 2+ 128 5,195
OEZHI(22048]) 1,000,000 %1 1,000
SR 30,054,002/ 12812 2,505
o4l 28 3,360
A2 30,054, 00024+3.495% 1,051
o)UY
1,051,000 %12.27% 129
=0z 30,054,000 4. 5% 1,353
LEES 30,054,000 *1.75% 526
AHHES 30,054, 0003 * 1% 301
OSEHSAIE Ea 2FY 38,676
OoJlzs 76,9603 x4 05! 29,245
O=Fs=g 76,9603 x4 152 4,618
Odxt=g 76,9607 x4 H 3 924
O4tHES 3,889
- =S 34,787,000 +4. 5% 1,566
- AYEE 34,787,000 *3.495% 1,216
CAIRYEE 1,216,0002 %12.27% 150
LEEE 34,787,000& *1.75% 609
SHHES 34,787,000 * 1% 348
201 fer= 3| 50,044 13,680 36,364
01 At 2|l 21,964 12,480 9,484
OZ2ZHSAE A2Z(BA8ZE) 72
2,000,000 *3 Ax1H 6,000
OAR=ZSH0|EE )| X2
40,0002 *1CH* 122 480
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SN HMDSED
3 dENE 54
ol DIASAL 29 L Be (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2Z=Z2H019F M 2| 8,052
OXr 189,000 ~8H 1,512
Og8st 100, 0002 %104 1,000
ogy 120,000  10H 1,200
OetdEE 68,0002 * 154 1,020
OZ2c01YH otd A 2l Xtz
660,000 *1CH*23] 1,320
OLEZ0l BAlz 500,000 =2CH 1,000
OJIEIA2E(AE MRSE, &=AUMA)
1,000,000 *14] 1,000
OAZ=ZCH0|YE RBH| S5H|
66,0003 * 122 792
OAX=ZSCH0IZE LPOtA A 3,040
OJtAF &I 750,000 *42] 3,000
(@P) Ear=YNi=d 40,0002 12 40
OF-, X4, s+ A=Y wAH 3,600
O3 20 =2 WAl
200,000 x20H =23 800
OXx4 = 2= uH
150,000 *8IH+23] 2,400
Os= =20 22 WAl
100, 000& #2JH+23] 400
02 S3=4ghl 28,080 1,200 26,880
OB3HEAE 832 28,080
OSSHEAIE M2 &IIRS 20,400
TeH=s2E 850,000& * 122 10,200
gRIMAEZ=ZL10/YE
450,000 122 5,400
RSP ARRER II3=2H
400,000 12& 4,800
OS3HEAIE ML &ot=ER3 7,200
N2 100,000 * 12 1,200
gRIMAEZ=ZLH0/YE
250,000 x 122 3,000
GESYEAEXIER IIA=2H
250,000 * 128 3,000
Oeleie=s 30,0003 *12& * 10 £ 360
Odlstes 10,0003 * 122 104 A 120
301 EtE N = 12,99 10,440 2,559
10 MSRREENS 12,999 10,440 2,559
oO7UN=ZE 2892% 12,99
osz2(0184) 600,000 x1H 22 1,200
Oo==(¢s9) 680,000« 12 +6E 4,080
osa(4d) 800,000 x1H«12 800
os2(8%) 1,000,000& x1H 43 4,000
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FAN BEUSEE N
M MBS SA
el ZZASAIE 29 U 242 (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAHI 7,0003x222x 18123 1,848
O st 2,800 x22Lx18 123 740
oul=tl 330,720 1 331
405 KHaHE SH 1,221 1,080 141
01 Tt =S F=HI 1,221 1,080 141
O2c201dd W2 7L (SSAHXIU)
610, 4003 *2H 1,221
SEMEZSEE 545,819 378,002 167,817
Al 162,000
- 383,819
CA2 28 € 2435 545,819 378,002 167,817
Al 162,000
- 383,819
S3TNE 2E & 2l 269,805 270,742 A937
101 @124H| 38,703 36,828 1,875
M ORIMZZ2NSE S 38,703 36,828 1,875
OFAL H2 FY 38,703
OJlzs 76,9603 x2 95 2 201 2+ 29,245
O=xs=g 76,9603 2 * 152 =21 2 4,618
Odxt< 76,9603 »2H 32 =21 2 924
O4tHES 3,916
AL 34,787 ,00021%3.545% 1,23
Lo QY
1,234,0002%12.81% 159
=0z 34,787,000 *4. 5% 1,566
LEES 34,787,000 *1.75% 609
SHHES 34,787,000& * 1% 348
201 eer23| 138,990 142,340 A3,350
01 AtR2t2lHI 68,930 68,801 129
o¥JItd= s8 13,440
OOZ0I&EX
12,0002 x 105+ 122 204 2 2,880
OogetEil 12,0002 x20S5* 122 «204 2 5,760
oulE 20,0003+ 105+ 123 =20 2 4,800
Odgt+=H| 41,306
O=AM2A2E +=SHI
200,000 x2)4 =% 123 4,800
OZgdH, SAPDI EH F#
150,000 *200 <27H 2 6,000
OSAEA 7
17,0003 38t A =122 201 2 1,224
ORIFAZHIES =22
150,000 « 122 =201 2 3,600
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SN BMDSS2D
B SN2INE
el EA2 2 2 2435t (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=20] ZIIBN 22
120,560 *13] x2JH 2 242
OFAMNEI|CHE AL =2
190,0003 » 123 *2JH 2 4,560
OURNISRCTHZ HBIE Ha 242
17,17024+(Z= 07,2501 /100) 1,490 126
OF=)| gtz
40,0002 *4CH* 128 x2JH 2t 3,840
O3J18EI| g4tz
44,0002 *4CH* 122 x2JH 2t 4,224
OZ M 3IS
1,100& *1,0000H 204 2 2,200
O3AE £ T2y 423
100,000 & *2JH 2 200
OS M4 o ope
30, 0002 *10%*500& 1,500
ORFID ERO 1,000 *500 01 =2 2t 1,000
OXDMHERE D ABZ
((330, 000242 A )+( 187,000 # 12+ A ) ) x20H
= 1,694
OEMNEL MYDISE 7L
5,600 x 158 »12& »20H 2 2,016
OFAEE 4 StHEAAEE
170,000 12 20 2 4,080
O N2 2% Z Al
8,000& x8H +8Alx 12& 6,144
OZNBUSYANS| FHLY
70,0003 *6H *23| 840
OAZHEEIRHLIIH HEAIE AAIRRS &
A 100,000& x4 H *13] 400
OO0i2I0] OIEAIE SALL HM=H|
50,0003 * 16 *13] 800
O=AEE 294| 6,000
O=AEE R0l 2
22,0003 =130 1 =20 2t 5,720
O8] & Let=g4]
140,000 =201 2t 280
02 324l 70,060 73,539 A3,479
03223 £ HMAl 56,265
osEaa 911
sSfH=
2,530 x5 x 12«20 2t 9N
oMIIe3 1,000,000& 128 x2JH 2 24,000
OEADIIA 23
1,250,000 *12& =17 2 15,000
O - otk 2=
70,0003 * 123 x2JH 2t 1,680
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SA BMDSSED
B Sh2sRE
el EA2 2 2 2435t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsZJ| =Al&cly|
170,000 123 «20H 2 4,080
OAZAIE FAl2clbl
200,000 x 122 =20H 2 4,800
O A2 sl 123,000 204 2t 246
OA NS 2] 50,0002 10K 2 50
O=221015 MHIA OIE=
550,000 * 1= 550
OMS LSEAMHIA Ol
142 +3,0002 x 12 200 2t 1,008
OQEHY 21d & HOISTV AIE=
125,0003 x 122 »20H 2t 3,000
OFE A2 A X2 tldsH= 940
=Nl 220,000 =2JH 2 440
- AIIREs 100,0002 %52 500
OAZZHl |XIH| 13,795
OdE FAlHl 3,955
Ol 28 A2 A=7Ab|
96O *1,293m+0.5 627
g 028 A2 A=KA|
969 *675m*0.5 328
Ol 028 A2 Bi+=8Z Sl
1,000,000 %14 1,000
- AAEOoA =R 2=
1,000,000& %1 1,000
-HEOSS A2 B HIISA
1,000,000& 1 1,000
O=AZ &l |l 9,840
- EHYAANOIE FAE24HI
478,000 x 12& 5,736
CEAE DI MO RXIE 4]
600,000 x2H -2+ 1,200
CEN2ANSSAAR FXI2 4]
242,000 122 2,904
301 EtE N = 41,362 42,544 AT1,182
10 MSRREENS 41,362 42,544 A1,182
OAM2A2d Bx 41,362
os3(8%d)
1,000,000 * 122 12 %204 2 24,000
O=r={¢4=))
800,000 x 122 x1H*1JH 2 9,600
Os4ll 7,000 x222 3 * 12 5,544
OulEH| 2,800 x222 3 * 12 2,218
405 AtatE = 50,750 49,030 1,720
01 Tt =S F=HI 320 6,160 25,840
o&Jl2+I| 7Y 320,000 *1CH 320
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A BdUSEE N
B Sh2sRE
el EA2 2 2 2435t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 =A bl 50,430 42,870 7,560
O=ANZ A 7 50,430
O&Jl &M 2¥
14, 00021 «60 * 12 x20H 2+ 20, 160
08l TA P
14,0003 302 x 12 20 2t 10,080
0312 TA BIZUE TA 2
14,0003 802 x 122 13,440
O ¢ 25,0003 x10JH+62] 200 2* 3,000
Ofst &A 7 25,0003 » 1502 3,750
SNNE AL Z2E 29¢ 100,000 69,260 30,740
Al 12,000
- 88,000
201 er23 | 29,000 69,260 AN40,260
Al 12,000
- 17,000
01 At2teltl 6,000 63,260 A57,260
OSHSsIUI T2 2 2,400
OE2H ¥ Ysi=gy)
100,000 x 122 204 2 2,400
0dg - {0t € Ot =208 29 2,400
OS24l & &8t +=34|
100,000 122 «20H 2 2,400
Ofg Z2)8 23 1,200
OE2H & Ust 234
240,000 %52 1,200
03 A2 I 23,000 6,000 17,000
o=t U= ¢ 24 3,000,000 1= 3,000
O=Ke g2 29 3,000,000& %1 3,000
O A2t A ZE A 2 (F2UHAHA
TEOEE) 12,000,000 1 12,000
Al 12,000
OSAZ Y S2 2Y(FUH00IA TE
CE=)) 5,000,000 1= 5,000
301 LEtE NS 71,000 71,000
14 0Bt 2as 71,000 71,000
OSAEsZa =228 23 41,400
OZA=g
90,0003 +237H 2 £+ 10| +27H 2+ 41,400
08 - =0l € Ot 2208 29 21,600
OZ A=<
45,0003 *24)H Z £ 102 =21 2 21,600
OSg Zz21Y 29 8,000
OZAt==g 1,600,000 #52 8,000
H2M2 29 € 243 N 36,014 38,000 1,986
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2A:

B Sh2sRE
el EA2 2 2 2435t (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Al 10,000
T 26,014
101 e124d| 22,864 22,864
04 JIZtN2 2S84+ 22,864 22,864
OBEH2 A 23 AR FY 22,864
oJl2= 76,9603 x2202 x 1 H*1JH 2 16,932
o5+ 76,9603 382 x1H +1JH 2 2,925
Odxt=g 76,9603 x0Lx 1B+ 1 2t 693
@ZIN =)= 2,314
HLEE 20,550,000 *3.545% 729
LI RAEE 729,000 %12.81% A
=0z 20,550,000 4. 5% 925
nEsE 20,550,000 *1.75% 360
ATHEE 20,550,000 1% 206
201 L= 3,150 3,150
01 AFS2t2ltl 1,150 1,150
OBEX2TAMS 2 LE=EH| 1,150
OA2Z(3A88 8) 7
100,000 *10H 2~ 100
o=sgll &EH 7 150, 0003 *2H 300
ORUFABHIEY ==
50,0002 *10& 500
O&=J| gz 25,0002 102 250
02 S3=2g4l 2,000 2,000
OBSH2ZAZ 2E 332= & MA 2,000
oMIIe3 150,000& * 102 1,500
OClHu 318 AIE R 50,0002+ 10& 500
401 Al HIZ S OHbI 10,000 10,000
Al 10,000
01 A=l 10,000 10,000
OSEH2AZ 28 &4 & S48 g3
AF=QIEO ML SEHE)
10,000,000& x 14! 10,000
Al 10,000
AOIEEE M2 X 140,000 140,000
Al 140,000
201 2= 10,000 10,000
Al 10,000
01 AtR2te|bl 5,000 5,000
OARlE & S22 MA (LML A
F0g) 5,000,000& 14! 5,000
Al 5,000
02 S3=24l 5,000 5,000
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2A:

B Sh2sRE
R A2 28 2 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OTIIBAL & SASAHFLIEOHU L AIE
) 5,000,000& 14 5,000
Al 5,000
401 Al HIZL 201 119,200 0 119,200
Al 119,200
01 A28l 119,200 0 119,200
OADIEZ M2 EXI(FLUHAHOIA AIZSN
&) 119,200,000 * 14! 119,200
Al 119,200
405 AtaHE = 10,800 0 10,800
Al 10,800
02 =A bl 10,800 0 10,800
OADIEEZMZ A R (FLUHAOA Al
HEWE) 18,0002 »600 10,800
Al 10,800
HH 23 845,469 901,252 A\Bb,783
Al 60,900
- 784,569
el 2E | 758,679 806,314 A47,635
Al 60,900
- 697,779
el 758,679 806,314 A47,635
Al 60,900
T 697,779
101 @124H| 736,419 781,658 A\45,239
Al 60,900
- 675,519
01 &2 88,304 94,623 26,319
OAe22+E 88,304
O6= 12,3213 %3N 27 H* 123 36,224
org 11, 1302 *3BA| 2H6H « 122 28,048
O8= 9,992 +36AI 24« 123 16,787
O%= 9, 1602 x36AI2Hx 18123 3,848
OXMSIH&HI 84,907,000 4% 3,397
02 JIEtA = 525,526 569,839 N44,313
oINS (82) 64,112
OHSH 55,413, 7773 x1&x14 55,414
OAIRRA+=E
9,902 «36AI2Hx 18123 4,197
OF A S A 140,000 x1&* 122 1,680
(@NIE=)out = 161,167,000 *1.75% 2,821
OAIZHHERIADIHIS 22 (01=) 461,414
OASH 38,411, 9423 «10H 1= 384,120




2,550
154
3,057
AN\8,148
N\8,148
A 168
N 168

20,805
3,851
948
94,938
94,938
20,718
20,310

18,255
1,980
16,275
4,005
4,005
1,602
1,262
162
623
356
86,790
86,790
20,550
20,142
9,582
4,560

35,587,000& 4. 5%
35,587,000 *1.75%
35,587,000 1%

1,262,0002%12.81%

165,000& x1H 122
35,587,000 *3.545%

(0+2)

55,000 *35/40+10& » 123
(25,0002 %192 *128 )+0.8
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2N BMDSEED)
HE: 2 HA|
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIZgle, WA SAD| 2t A2F 3,682
=9 EY 121,000 * 128 %42] 484
2zt EY 154,000 #3248 x4 3] 1,848
=™ 297,000 x4 25 x13 1,188
EY =8 54,0002 *32 162
O=ALEX 24,8003 255 A 620
OARA E=)| SXs
60,000 *1CH* 122 720
O= gl 10,560
OS2S84l 8,000 x22E 54! %122 10,560
2 s5=34l 408 408 0
0332= % HAl 408
OBHAD 48 P2HS Yz 408
S8z 2,530 *102x 122 304
aoteEs 430 +202A* 122 104
202 04l 62,640 69,120 26,480
01 =LHA LI 62,640 69,120 6,480
OJ=ZRFTOHI(IIM =&)
180,000 20«12 62,640
203 2=l 3,600 4,200 A600
MU FAZHHIFII 3,600 4,200 600
ORMEIE = 300,000+ 12 3,600
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